Unit 6.2 Review – Converting and Applications of Quadratics 
Convert from Standard to Vertex Form:  
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The cost, C, in dollars, of operating a machine per day is given by the equation C = 2t* — 84t + 1025,
where ¢ is the time, in hours, the machine operates.

) What s the minimum cost of running the machine? For how many hours must the machine
run to reach this minimum cost?
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The height of ball, h metres, t seconds after it is thrown is given by the equation
h==5(t-3)2 + 465

) What was the maximum height of the ball?

b) How long does it take the ball to reach its maximum height?
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Afootball quarterback passed the ball to a receiver 40 m downfield. The path of the ball can be
described by the equation h = —0.01d% + 0.4d + 2.

) What was the maximum height of the ball? What was the horizontal distance of the ball from
the quarterback at its maximurn height?
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6. A small rocket is launched from a height of 72 feet. The height of the rocket in feet, h, is represented by the
equation /(f)=—16¢" +64+72 , where t = time, in

seconds. Find (a) how many seconds until the rocket reaches its maximum height, and (b) how many feet high
it will be at that point.
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